Maths

Solve quadratic inequalities (a > 1)

Miss Parnham
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Solve quadratic inequalities (a > 1)

1.a) Solve 6x*+x—2 > O

( )( )20

x < x >
b) Represent the solution on a

number line and using set notation.

2. Show the solutions to the following
Inequalities on a number line and
using set notation.

a) 4x2+12x+5 <O

—5 —4 -3 -2 -
b)8x2 + 6x —9>0
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Solve quadratic inequalities (a > 1)

3.Solve 8x2 +x —30 < 2x2 — 2x 4. Rearrange and solve
8x?+x —30 < 2x?—2x a) 16x2 + 2x = 2x +9

D, ¢ )

8x? + 3x — 30 < 2x?

O O p) 10x%2 +15x < 4x + 6

<0
( )( )< O 5. The set of values for x that satisfies
a quadratic inequality is
Represent your answer using set {x:x>4Ux<1}
notation. Write down a possible inequality.
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Solve quadratic inequalities (a > 1)

1.a)Solve 6x?2+x—2 = O
6x?+4x—-3x—2 >0
(2x-1)(38x +2)=0

x < £ xz_%_

b) Represent the solution on a

number line and using set notation.

2. Show the solutions to the following

iInequalities on a number line and
using set notation.
a) 4x2+12x+5 <0 {x 25<x<-0.5}
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b) 8x2 + 6x —9 >0 {x:x>0.75Ux < -15}
«—O0 o—
T
2 a0 1 2
C) 25x?2 — 4 <0 {x: —04<x <04}
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Solve quadratic inequalities (a > 1)

3.Solve 8x? +x —30 < 2x2 — 2x 4. Rearrange and solve
8x?+x —30 < 2x?—2x a) 16x2 + 2x = 2x +9

16x? —9=0
@ @ (4x+ 3)(4x —3) =0

{x:x=>075Ux < -0.75}

8x? 4+ 3x — 30 < 2x? b) 10x2 +15x < 4x + 6
@ @ 10x2 +1x —6 < O
2x +3)(5x —2) <0
6x%>+3x —30<0 {x: -15<x <04}

(2x +5)(3x - 6) < O 5. The set of values for x that satisfies

Represent your answer using set
notation. {x: -25<x < 0.5}

a quadratic inequality is
{x:x>4Ux <1} x2 —5x+4>0
Write down a possible inequality.
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